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1. The following information is available for October for Barton Company.

Beginning inventory $ 50,000
Net purchases 150,000
Net sales 300,000
Percentage markup on cost 66.67%

A fire destroyed Barton’s October 31 inventory, leaving undamaged inventory with a cost of $3,000.
Using the gross profit method, the estimated ending inventory destroyed by fire is ?

(A) $17,000. (B) $77,000. (C) $80,000. (D) $100,000.

2. Fogelberg Company purchased equipment for $12,000. Sales tax on the purchase was $600. Other
costs incurred were freight charges of $240, repairs of $420 for damage during installation, and

installation costs of $270. What is the cost of the equipment?

(A) $12,000. (B) $12,600. (C) $13,110. (D) $13,530.

3. Equipment was purchased at the beginning of 2013 for $204,000. At the time of its purchase, the
equipment was estimated to have a useful life of six years and a residual value of $24,000. The
equipment was depreciated using the straight-line method of depreciation through 2015. At the
beginning of 2016, the estimate of useful life was revised to a total life of eight years and the
expected residual value was changed to $15,000. The amount to be recorded for depreciation for

2016, reflecting these changes in estimates, is ?

(A) $12,375. (B) $19,800. (C) $22,800. (D) $23,625.

4. During 2016, Oldham Corporation, which uses the allowance method of accounting for doubtful
accounts, recorded a provision for bad debt expense of $25,000 and in addition it wrote off, as
uncollectible, accounts receivable of $10,000. As a result of these transactions, net cash flows from

operating activities would be calculated (indirect method) by adjusting net income with a?

(A) $25,000 increase.  (B) $10,000 increase.  (C) $15,000 increase. (D) $15,000 decrease.
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5. Mini Corp. acquires a patent from Maxi Co. in exchange for 2,500 shares of Mini Corp.’s $5 par
value ordinary shares and $85,000 cash. When the patent was initially issued to Maxi Co., Mini
Corp.’s shares were selling at $7.50 per share. When Mini Corp. acquired the patent, its shares were
selling for $9 a share. Mini Corp. should record the patent at what amount?

(A) $97,500. (B) $103,750. (C) $107,500. (D) $85,000.

6. The 12% bonds payable of Nyman Co. had a carrying amount of $832,000 on December 31, 2014.
The bonds, which had a face value of $800,000, were issued at a premium to yield 10%. Nyman uses
the effective-interest method of amortization. Interest is paid on June 30 and December 31. On June
30, 2015, several years before their maturity, Nyman retired the bonds at 104 plus accrued interest.

The loss on retirement, ignoring taxes, is ?

(A) $0. (B) $6,400. (C) $9,920. (D) $32,000.

7. Lindsay Corporation had net income for 2016 of $3,000,000. Additional information is as follows:

Depreciation of plant assets $1,200,000
Amortization of intangibles 240,000
Increase in accounts receivable 420,000
Increase in accounts payable 540,000

Lindsay's net cash provided by operating activities for 2016 was ?

(A) $4,560,000. (B) $4,440,000. (C) $4,320,000. (D) $1,680,000.

8. Information concerning the capital structure of Piper Corporation is as follows:

December 31,

2016 2015
Ordinary Shares 150,000 shares 150,000 shares
Convertible preference shares 15,000 shares 15,000 shares
9% convertible bonds $2,400,000 $2,400,000
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During 2016, Piper paid dividends of $1.20 per ordinary share and $3.00 per preference share. The

preference shares are convertible into 30,000 ordinary shares. The 9% convertible bonds are

convertible into 75,000 ordinary shares. The net income for the year ended December 31, 2016, was
$600,000. Assume that the income tax rate was 30%. What should be the diluted earnings per share

for the year ended December 31, 2016, rounded to the nearest penny?

(A)$3.20. (B) $2.95.
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(C) $2.83. (D) $2.35.
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$ 375,000 $ 550,000
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90,000 120,000
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25,000
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60,000
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30,000
63,000
12,000
8,000
42,500 65,000
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